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HE ihh TEALFEE 4 AL A

LA HE G (BK) W H P S kg 139.00

2|55 (BR) B FH P kg 380.00

|\ 7 F AR TF vEF H AR S £ dn (BF) kg 750.00

4B o S —h (BR) ke 140.00

515 ()7L vy a3—Rhbiz7a~ kg 190.00

6| BT+ KAR (k) ik ke 836.00

7D ToHE ALIE =55 7 5 (BR) kg 620.00

8| F ¥ —a— o B3 —h (BR) ke 1,980.00

92T A 2AF—X ) B L5 e 27.00
10[L531EL AL =25 5 (BF) ke 1,298.00
11[BEx T (BK) B HH P s kg 300.00
12|Jh 5 (k) ik ke 948.00
13|z iz %< (BK) B HH P s kg 252.00
14| F 78 (BK) B H pE &S ke 340.00
15| Z D & Ak (F)a—U 8k N 360.00
167 —A A b S — (BE) ke 1,380.00
17)7 3y 745 (— ) B L S AL 3P 1l 56.00
18| FIED LR =55 3 () A 290.00
19| I SEFAEEIS FLIR =5 & () ke 1,080.00
20|77 TR —A H A S22 £ vh (BK) 0w 430.00
21 AR 2E 5L YTy A TR | 52.00
22| B3 2 — A (q)z—T78 A 80.00
23| D&z AL (BK) B FH P s kg 252.00
24| 7 HNE (FE) Hiljigk A 26.00
25 |/ INMEE AR (F)a—"U 8k S 130.00
26[N—T7~vax—X (B)a—U R K 340.00
27| ARHY A HARE RS (BR) L 210.00
28| & Hh H AR R (BR) ke 180.00
29(E (F)a—U R, L 262.00
30| = EE (q)z—TU8 L 176.00
31| TAK HARE &S (BR) kg 220.00
R2WAVHFELZERL Yy T (k) B4 kLR = 2P 4% 7.60
33| I Y I AR HT )L HARRE &S (R kg 250.00
34|BEZ DY ()z—TU8 N 212.00
35|V AR—T DFE AbiRE i B (BR) kg 440.00
36|HHE A H A2 £ ih (BR) A 39.00
37| FHEE FLIR =565 5 () kg 4,040.00
38|~ R— R N—TIRAD H AR A (BR) % 10.00
39| HARE &S (BR) kg 1,300.00
40|F =) —4 515 H AR B dh (BR) i 240.00
41| B T H AR S hn () 1% 94.00
42\ TR T — A H AR A (BR) 1 75.00
43| ()2 —T 8 kg 1,300.00
44| B B D T BR) 7w ma KA /K kg 780.00
45[ LA (A)=a—U i kg 1,080.00
46| &L (kk) ‘& + HR S 4% ke 2,100.00
4TI TRE A SRR (BF) & L& hh kg 445.00
48| EENE H % (BF) & LA hh ke 315.00
49| TR =2 ] — 1 — A HARE &S (BR) kg 340.00
50[ A VAT A (BR) & L& hh kg 295.00
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51[IKEL K ()7L v 23—/~ kg 920.00
HolFHIZ Y ()7L vy 23—k~ kg 530.00
53| EHRbLLA () 7Ly 23—kl kg 670.00
54| %590 o S —h (BR) ke 310.00
55 | FLEE B (— ) B Lo S LI 260 A 90.00
56| # & H1Z7=T (BR) 7> vaa KiGKPE ke 4,200.00
57|47 F ALIE =55 7 5 (BR) kg 3,500.00
58| I A A H A2 1 hn (BK) A 58.00
5973 ¥ () 7Ly 23—kl kg 300.00
60| K558 H AR & (BR) ke 350.00
61|/NEHy H A SR £ dn (BF) kg 155.00
62V A AN~ = H AR & (BR) kg 260.00
63| AT T 4 H A S £ dn (BF) kg 280.00
64| 0.5 H AR & (BR) ke 3,600.00
65|65 H AR S £ in (K ke 2,640.00
66|35y MM —FI 7 A (q)z—T78 A 240.00
67| A (BR) & L& kg 10,500.00
68| EX DY AL =25 5 (BF) ke 3,800.00
69| JFk I (F)a—TU 8k N 383.00
70|/ 37— LR =55 3 () A 360.00
1|~y a—bKE 25 H AR S A& in (K fin 270.00
2| AR — L — H A S22 £ 0h (BK) ke 245.00
73|72 Z KB AR (BR) & L& i 480.00
41D T BIKE 2 H R (BF) & L& hh 1 580.00
75|/MZ5 i (F)a—"U 8k i 460.00
76| A k4 -1 H AR R (BR) i 250.00
TN AT 7 V31 HARE RS (BR) in 136.00
BAL YV a—X (— ) BAfRS L S AL S 3E 0T i 110.00
Iy a—=A (— ) B L3 S AL 260 i 110.00
80|/ L —FVa—X (— ) BAfRSL S AL S 3E 0T i 110.00
81| ok ()2 —TU 8 b kg 183.00
82| /A Dp D (F)a—U A5 L 365.00
83|THEA—T DR (BR) & L& kg 1,450.00
84| L —¥n H AR R (BR) ke 2,700.00
85| 5. - (BR) & & %N 92.00
86|SAL 1) H AR R (BR) %N 670.00
87| 5 EZL 1) ()2 —T & b %N 152.00
88| A Aoy = =7 H AR A (BR) %N 380.00
89|h~hrF v/ ()2 —T 8 N 162.00
QA FIRRL v T (BR) T A kLR = 2T 4% 7.60
91| ADIE IR — A H AR S hn () 4 8.00
92| H ik H AR A (BR) ke 460.00
93|43 A DI S ()2 —U b 1% 5.00
94| Xy ADERK (BR) & L AR & 13.00
95|F T ¥ A H AR S hn () 1% 10.80
96|~v—~L—NK H AR £ (BR) % 12.00
97|Bz =T A a7 Fe (BF) & L& hh ] 60.00
98| ALIE =55 7 5 (BR) ke 1,180.00
99|7=\ Bz HARE &S (BR) 4 11.00

100[7&8 T 500 (kk) ‘& + HR S 4% kg 10,500.00
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HE ihh TEALFEE 4 AL A
101 A YT Ry (BF) = A kLI T 1% 7.60
102| D7 A F H AR B (BR) kg 360.00
10348 AV FERL v ) (Bk) = kLI e FEPT 4= 7.60
104|z2—7 1k (— ) B g L5 = ALIR S5 26 7T A 50.00
105| W7 A T Y — H AR SR £ dn (BF) A 48.00
1064 A AZ—V— A ()z—78 5 ZN 175.00
107[BlzEWHDY (BR) & L& e 22.00
108] i -y 2K —y— 2 (F)a—U R, A 146.00
109]| 5 _E iy —A (B)a—UR b, %N 146.00
10| R EPELHED— () = L& A 49.00
111 GAEE H A SR £ dn (BF) 1 230.00
12| FH 5% )z —U 1#l 235.00
113|777~y /X — H A S £ dn (BF) A 340.00
L14|#E O LI H AR & (BR) N 14.00
115(2 4 —ha—r 4511 (F)a—U 8k i 136.00
L1654 oP)— H AR B (BR) A 46.00
17|57 aya)— Bk = A& ke 275.00
LI8|ARTA R Fa—D ) Bt 43 1,450.00
119|p 3" H%Z H AR S A hn (K & 17.00
120)i RS DETEL H A S22 £ vh (BK) L 730.00
121|238 5070 F H AR S A& in (K 1l 8.50
122|587 F— R —% () = L& A 43.00
123| E AMIET 215 H AR S A in (K iin} 180.00
124| A—F A7 (BF) & L& hh ke 1,450.00
125|#3 /31 H AR S A& in (K & 250.00
126|553 S a7y 2 —7)— A H AR R (BR) A 51.00
127(2VA e g i HARE RS (BR) N 480.00
128| i\ TR~ T A H AR R (BR) A 58.00
129| 5 bR WS i ()2 —T & b %N 172.00
130 | FEdf s~ 7 A (BR) & L b ke 6,400.00
131|BBIL 73307 Fe R E & 60.00
132|725 5070 F H AR R (BR) A 20.00
133[ARAEBALDIN HARRE &S (R %N 545.00
1347V (B FH7Y— L) (G A 46.00
135[~_p—F—=x () = L& & 36.00
136 mieE 2 0L H AR R (BR) ke 1,200.00
137|487 —7 P —Fe HARE &S (BR) & 50.00
138|474 i H AR A (BR) kg 210.00
139 BHEE HARE &S (BR) L 463.00
140\ Z—a— )L H AR B dh (BR) & 38.00
141 st o —L HAREZ &S (BR) i 26.00
142l a v —on#E H AR A (BR) ke 630.00
143 ¢EHL —nFHE HARE &S (BR) ke 630.00
144 | Jida B (F)a—U R, %N 300.00
145| A & ()2 —T 8 i 60.00
146 | EEl 2 1 H AR £ (BR) & 76.00
147 | o [E PE B 2R LEKS T (BR) 7v o aa KgAK 1% 650.00
48| R LI Db (Bk) 7> vz Kig/KE % 500.00
149\ B 22 LB 2725 (Bk) 7 v oaa Kig/KEE 48 385.00
150/ F=3)—/LPlus (k) & e A kLR = 2P & 16.00
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HE ihh TEALFEE 4 AL A
151 H 3D EBk H A S £ dn (BF) kg 490.00
152 LEAAEAR Ui psi = (BR) 03 1,000.00
153| A1 /35 ZMini (2 —t—B) (k) & e A kLR = AT A 140.00
154| A1 /352 ZMini (3t 7 ALIE) (BR) B A FLIR = ZEpT A 140.00
15587y )z —TU 8, A 194.00
156[48 AV 7L FRL YT (BK) B A LR = P %3 7.60
157 |8 (0, S R H A SR £ dn (BF) kg 200.00
158| A A4 =15 H AR & (BR) in 220.00
159 =7 v — Y581 (F)a—TU 8 i 146.00
160 A tPHEZ FRL v T () = L& N 14.00
161| A1 /352 ZMini (7 /L —~_Y —Bk) (k) & e A kLR = AT A 140.00
162| A1 /35 ZMini (/X FF k) (BR) B A kLR &= ZE P A 140.00
163| A1 /35 AMini (A —) (k) & e A kLR = AT A 140.00
164|804 o S —h (BR) ke 330.00
165| KGNS R A (BR) B oA FLIR = 2P 1l 750.00
166t DOV I H AR B (BR) 0w 17.50




